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Hypotheses

Two-country microfounded general-equilibrium model,

In each country, the size of population is normalized to unity.

Households’ preferences:
U = ln C − κ`

Aggregate consumption in a closed-economy:

C =

�Z n

0

C(h)
θ−1

θ dh

� θ
θ−1

Aggregate consumption in open-economy: C = C 0.5
H C 0.5

F where CH and
CF are Dixit-Stiglitz aggregators of the n and 1− n varieties produced in
the Home and Foreign countries respectively.

Assets markets are complete ⇒ With full risk-sharing, the ratio of the
marginal utilities of Home and Foreign consumption in any state of nature
must be proportional to the relative price of consumption:

∂U/∂C

∂U∗/∂C∗ =
P

P∗E
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Hypotheses (2)

Firms are monopolistic supplier of one variety of the consumption
good.

Labor is the only input in production.

Perfectly competitive labor market.

Short-run nominal price rigidities: firms preset their price at the
beginning of the period, either in their own currency or in the
currency of the final consumer. Once prices are set, firms stand
ready to meet current demand at this price during the period.

In the open-economy case, the domestic price level is defined by:

P = 2P
1/2
H P

1/2
F ⇒ Nominal price rigidities do not necessarily rule

out endogenous fluctuations in the consumer price indexes P, which
may reflect imported inflation.
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General equilibrium

Aggregate demand schedule: equalizes nominal spending to the
money supply

PC = µ

Aggregate supply schedule: relates output to total employment

In a closed economy: C = Z` where Z denotes labor productivity
In open economy:

CH + C∗
H = Z`

⇔ C = Z`

�
P

2

�
1

PH
+

1

P∗HE

��−1

= Z`τ

It takes 1/τ units of Home output to buy one unit of the Home
consumption basket C . τ is a negative function of the terms of trade
(price of imports in terms of the price of exports PF /(EP∗H))

Natural Rate schedule: employment under flexible prices

` = ¯̀=
θ − 1

θκ
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General equilibrium in a closed economy

The structure of the economy

The Corsetti-Pesenti model can be synthesized by means of three schedules:

Aggregate Demand, Aggregate Supply, and the Natural Rate.

The Aggregate Demand ‘AD’ schedule

PC = µ (2)

P is the consumer price index associated with the consumption basket C: PC

is aggregate nominal spending. µ synthesizes the effect of monetary policy

(whatever the policy instruments used; e.g. a function of money supply and

money demand is proportional to consumption) on aggregate nominal spending

PC.

The Aggregate Supply ‘AS’ equation relates output (which in equilibrium is

equal to demand) to total employment measured in terms of hours worked:

C = Zc (3)

Z denotes labor productivity.

At any point in time, the intersection between ‘AD’ and ‘AS’ determines the

equilibrium allocation of consumption C and labor c for given values of the

exogenous variables µ and Z, and given the predetermined price level P .

The ‘Natural Rate’ or ‘NR’ depicted in Figure 1 is a vertical line at constant c̄.

To derive NR, suppose prices were flexible.

(a) Imperfectly competitive firms would then set prices by charging an optimal

markup over their marginal costs:

Pflex =

markupz }| {
θ

θ − 1

marg. costsz}|{
W

Z
(4)

Marginal costs: the wage rate, W , divided by the labor productivity Z. The

markup charged by the firm is a function of the degree of substitutability of the

variety produced by the firm relative to all other varieties.
Figure 1:
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Shock to the disutility of labor in closed economy

Suppose there are shocks to the disutility of labor (κ).

Consumption (C = Z`) is affected by the shock only if labor supply
is affected.

Under flexible prices, imperfectly competitive firms set prices:
Pflex = θ

θ−1
W
Z . With a perfectly competitive labor market, the

equilibrium wage rate in units of consumption is equal to the MRS
between consumption and leisure of the representative agent:
W = κPC = κµ ⇒ the nominal wage decreases with a negative
shock on κ and the natural rate of employment increases ⇒
Consumption: C = Z θ−1

θκ also increases.

Graphically, the AD curve and the NR curve shift.

⇒ Employment increases so that aggregate supply increases. Both
nominal wages and prices fall so that aggregate demand increases.
No output or employment gap is created.
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Shock to the disutility of labor in closed economy (2)

Figure: Long-run impact of the κ shock

Figure 1:

Intuitively, employment increases so that agregate supply increases. Both nominal wages

and prices fall so that aggregate demand increases. No output or employment gap is created.

If prices are not flexible, then firms preset prices by maximizing expected discounted profits

In our setting we have

P =
θ

θ − 1E
µ
W

Z

¶
=
1

Z

θ

θ − 1E (κµ)

as productivity is constant and uncertainty comes from the κ shock. In this case, the AD

curve does not shift up because prices are fixed. In this case, employment is below the desired

level by workers. The NR curve shifts as in the graph but the AD curve does not.

Monetary policy can mimic the fall in prices that is optimal in this situation by a expan-

sionary policy (µ increases) that leads to an increase in demand and employment. Note that

nominal wages fall in one case and stay constant in the other case.

3) In the open economy, show graphically and explain what happens in both countries when

prices are flexible. What happens to the terms of trade? What is the transmission mechanism?

The κ shock in the flexible price situation means a fall in Home wages and therefore Home

2
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Shock to the disutility of labor in closed economy (3)

In the short-run, firms preset prices by maximizing expected
discounted profits:

P =
θ

θ − 1
E

{
W

Z

}
=

1

Z

θ

θ − 1
E {κµ}

⇒ The AD curve does not shift up because prices are fixed and
aggregate demand is pinned down by monetary policy ⇒
Employment is below the desired level by workers. The NR curve
shifts as in the graph but the AD curve does not.

Monetary policy can mimic the optimal fall in prices by an
expansionary policy (µ increases) that leads to an increase in
demand and employment.
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Shock to the disutility of labor in open economy

The κ shock in the flexible price situation means a fall in Home
wages and therefore Home prices ⇒ Terms of trade deteriorate in
the Home economy

⇒ The supply of Home goods increases due to the increase in
employment. The Home country works more and consumes more.

⇒ The Foreign country enjoys higher consumption due to the
improvement in the terms of trade.
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Shock to the disutility of labor in open economy (2)

Figure: Long-run impact of the κ shock, Open economy

Figure 2:

prices. However, this means that terms of trade deteriorate in the Home economy. The supply

of Home goods increases due to the increase in employment. Hence (see graph below), the Home

country works more and consumes more. The Foreign country enjoys higher consumption due

to the improvement in the terms of trade.

4) Suppose prices are sticky under producer currency pricing.

a) What happens to the transmission mechanism in the case of the κ negative shock? Show

this graphically and explain.

Given that prices and productivity are fixed, aggregate demand is not affected but as in

the closed economy a production and employment gap opens in the Home country. Nothing

happens in the Foreign economy. Hence, the graph of the closed economy is basically valid here.

b) What should monetary policy do in this case to shift employment to its desired level?

What happens in the foreign country? Show this graphically and explain.

The monetary policy needs to expand agregate demand and should therefore increase µ. This

monetary policy has two effects: it increases Home aggregate demand (shift of the AD curve).

3

Figure 3:

This allows to increase employement and close the employment gap at Home. It also depreciates

the nominal exchange rate as ε = µ/µ∗ due to the complete markets assumption. This tends to

deteriorate the terms of trade in the Home country so that the open economy AS curve shifts

right. This means that part of the expansion in the labor supply benefits the Foreign country

through lower consumer prices as prices are rigid in the producer currency. Hence, the Foreign

open economy AS curve shifts left and Foreign consumption increases whereas employement is

not affected.

5) Answer the same question ins the case of local currency pricing.

With LCP, without monetary policy given that prices are fixed and exchange rates only

respond to monetary policy the answer is the same as in 4) a)

The effect of a Home monetary expansion on Home aggregate demand is stronger given that

prices are fixed in the consumer’s currency. This means in particular, that there is no imported

inflation. Also, the depreciation that follows the monetary expansion means an increase in

Home terms of trade (a deteriration of Foreign terms of trade) as the value of exports in Home

4
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Shock to the disutility of labor under PCP

Firms preset prices in their own currency ⇒ Complete pass-through:

PH = EP∗H =
1

Z

θ

θ − 1
E (κµ)

P∗F =
PF

E
=

1

Z∗
θ

θ − 1
E (κ∗µ∗)

Since PH and P∗F are preset, the Home terms of trade worsens with
a nominal depreciation of the Home currency (i.e. a higher E)⇒
World consumption of Home goods increases relative to
consumption of Foreign goods (“expenditure switching effects”)

Following the κ shock, given that prices and productivity are fixed,
aggregate demand is not affected but, as in the closed economy, a
production and employment gap opens in the Home country.
Nothing happens in the Foreign economy.
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Shock to the disutility of labor under PCP (2)

To compensate for the labor gap, the monetary policy needs to
expand aggregate demand and should therefore increase µ.

The monetary policy has two effects:

increases Home aggregate demand (shift of the AD curve) and close
the employment gap at Home.
depreciates the nominal exchange rate as E = µ/µ∗ due to the
complete markets assumption ⇒ ToTs deterioration ⇒ The open
economy AS curve shifts right and the AS∗ curve shifts left ⇒ part
of the expansion in the labor supply benefits the Foreign country
through lower consumer prices ⇒ Foreign consumption increases
whereas employment is not affected.
⇒ The exchange rate depreciation creates imported inflation in the
Home market, which mitigates the aggregate demand increase.
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Shock to the disutility of labor under PCP (3)

Figure: Impact of the κ shock with monetary policy, Fixed prices, PCP
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Shock to the disutility of labor under LCP

Firms preset prices in the final consumer’s currency ⇒ No
pass-through:

PH =
1

Z

θ

θ − 1
E (κµ)

P∗H =
1

Z

θ

θ − 1
E

(κµ

E

)
P∗F =

1

Z∗
θ

θ − 1
E (κ∗µ∗)

PF =
1

Z∗
θ

θ − 1
E (Eκ∗µ∗)

Since P∗H and PF are preset, the Home terms of trade PF/(EP∗H)
improves with a nominal depreciation of the Home currency (i.e. a
higher E) But no “expenditure switching effects”

Following the κ shock, given that prices and productivity are fixed,
aggregate demand is not affected but, as in the closed economy, a
production and employment gap opens in the Home country.
Nothing happens in the Foreign economy.
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Shock to the disutility of labor under LCP (2)

To compensate for the labor gap, the monetary policy needs to
expand aggregate demand and should therefore increase µ.

The monetary policy has two effects:

increases Home aggregate demand (shift of the AD curve) and close
the employment gap at Home.
depreciates the nominal exchange rate as E = µ/µ∗ due to the
complete markets assumption ⇒ ToTs improvement but expenditure
switching effect ⇒ The open economy AS curve shifts left and the
AS∗ curve shifts right ⇒ Negative international transmission

Isabelle Méjean Lecture 8



Corsetti & Pesenti (2005)

Shock to the disutility of labor under LCP (3)

Figure: Impact of the κ shock with monetary policy, Fixed prices, LCP
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